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o 7,790
201 fer=3| 10,083 10,083 0
== 3,025
o 7,058
01 At22t2lt] 10,083 0 10,083
O BRI IsLSEAE HAAAE 2 10,083
< 3,025
s 7,058
202 04l 1,047 1,047 0
= 315
Ea 732
01 2L AL 1,047 1,047 0
O dEFRIIsLFIAE FHI 1,047
=S 315
s 732
I 2HlE NSNS SESA 9,600 9,600 0
201 2egh=3| 9,600 9,600
01 At2t2lt] 9,600 9,600
O RIEHIZ X2AYE SEZA HIE
4,800,000& 22| 9,600
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M =28
3 s Mlls2s SN
tel: HEFEESY MIIs 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O dEa M@=l o 22k S42Y
=Rl 7,040
2 1,760
2 5,280
® 222 3,000 4,500 A1,500
O EAWA HUISKX)
500,000 65 3,000
= 750
Ea 2,250
202 04l 3,000 3,000 0
= 750
o 2,250
01 =LHOHI 3,000 3,000 0
O EZZAL AIZHF 3,000
= 750
o 2,250
206 M=l 5,680 14,080 28,400
= 1,420
= 4,260
01 T2t 5,680 14,080 28,400
O EABY 2% H=b)
56,8002 255 +43] 5,680
= 1,420
o 4,260
sttE oty 244 29 62,390 60,390 2,000
201 ger= 3| 49,390 47,390 2,000
01 Al 22IH| 3,350 3,350 0
O AEA H2 X2l
440,000 #4=+32 5,280
O Hs=so & &84 24 HII= Xl
9,000,000 1 E+13] 9,000
O ASBE 2 JH8E 2
,300,000& *12/+80/100 2,070
O A&t H2t |RXId|
10,000,000 *25& 20,000
2 S5=24g4l 13,040 11,040 2,000
O AE&Hl |Xil 3,000,000 45 12,000
O AHIMEM 2EE 2HFY
5202 *2,0000H 1,040
206 M=l 13,000 13,000
01 M=4l 13,000 13,000
O EdEss & 24lig
65,0002 2005 13,000
2AFZZIE QISSME Y 2e 90,172 88,960 1,212
201 er23| 8,220 11,220 23,000
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SN0 )=
3 s Mlls2s SN
o EFEdsY Ml 28 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al22t2lH] 5,520 2,520 3,000
SIENEE RS
70,0002 +x3E %123 2,520
O 2=22FC 215 SHI0IXN FA28I 3,000
02 S3=gHl 2,700 8,700 26,000
O X &l (RetAEx) 2,700
202 04| 11,952 7,740 4,212
01 2LHoIH 11,962 7,740 4,212
O =stgds8 EE0YI
70,0002 x4 %122 %70/100 2,352
O 32& (HAEF) ol
160,0002 x5+ 12& 9,600
206 M=l 70,000 70,000
01 M= HI 70,000 70,000
O NE(EY sttt sdE%) 24 HEH
70,0003 %1,00021 70,000
2AFZLELE QISSaE YU otdd =2 125,749 124,187 1,562
101 @124H| 43,49 41,937 1,562
M IRINZZENSES 43,499 41,937 1,562
O daAH AIZMF D122 2 A =Y 43,49
2= 80,2403 x22 2«0 E x2H 31,776
-ReRg"Y
80,2402 x4 9= 2 5,778
-AXt=E 80,2403 x 92 x2H 1,445
-“2Es 250,000 x0E x2&H 4,500
201 er=23y| 2,250 2,250
02 S3=gHl 2,250 2,250
O Xl (2Y) 2,250
206 M=l 80,000 80,000
01 MHZHI 80,000 80,000
O MM AB(EY, sttE)24 HaH]
80,0002 *1,0002 80,000
IIEER & - HHI3t HESAMN XA 33,876 13,600 20,276
= 16,938
[Ea 16,938
101 @12A4H| 32,708 8,174 24,534
= 16,354
o 16,354
04 JIZtN2 2N S 2+ 32,708 8,174 24,534
O =8 & - HH|3t HEZAL 212 32,708
2= 80,240 x222 x7 & *2H 24,714
< 12,357
= 12,357
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SN0 )=
3 s Mlls2s SN
tel: HEFEESY MIIs 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e
80,240 x4+ 7 2 +2H 4,49
= 2,247
Ea 2,247
-“HEg= 250,000& »7 E+2H 3,500
== 1,750
o 1,750
206 MH=HI 1,168 5,426 N4,258
= 584
= 584
01 MZH| 1,168 5,426 N4,258
O ZABIE & M7 1,168
= 584
Ea 584
Folilld=E 244 29 46,750 45,969 781
101 21AH| 21,750 20,969 781
04 JIZtN2Z2 XS 2 21,750 20,969 781
O =olilld= 244 2922y 21,750
2= 80,2403 222 +«9F 15,888
-samYLy B0, 2402142140 2,869
—AXt=E 80,2402+ 723
-“HEg= 250,000& +9Z 2,250
201 2= 5,000 5,000
2 S52g4l 5,000 5,000
O =olilld= 244 =X
500,000 *105 5,000
206 MH=Hl 20,000 20,000
01 MZH| 20,000 20,000
O |Roi0Id2 AlE 24 THZHI
50,0002 40021 20,000
SEXNDIBER M (st M7 2AFH 7)) 350,000 0 350,000
== 175,000
[Ea 175,000
405 KHaHE SH 350,000 0 350,000
< 175,000
s 175,000
01 AL =S F = 360,000 0 350,000
O stt2 HFRSAZAFH] 7 (GMS/MS) 350,000
= 175,000
o 175,000
SESE JIgEY 308,481 228,782 79,699
=S 35,000
s 273,481
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2M: =t
=EE o MIIS23 SHXL
el 2 Jlgtxd
B . C9l(3H) - KIRAY - BAS A
SAL 29 165,733 156,697
o14d| 85,569 82,471
M IIZtHI22SEx 85,569 82,471
ASAEZ ZHH0IZ (PNE 22) 41,733
le3 80,2401 18724 %2% 20,010
-R38Y4y
80,2402 +9F 4L +2H 5,778
RPN WISy 80,2403 x2H+x 9 1,445
-AUEE= 250,0002 x99 x2H 4,500
O SEAZ ZHIL(0E)
175,2003 *2 B 63 2,103
O SYSAT AL (PHE 22) 41,733
A== 80,240& 187 L +2H 30,010
S EE LR
80,2403 x9F x4 U +2H 5,778
-AXS ot 80,2402 +2H 9 1,445
-“AUEE s 250,000 9 x2H 4,500
2Bt A| 46,004 47,626
01 ArR22ltl 4,200 4,200
O ASAERE 2Xt=
1,200,002+ 174 2 1,200
O SYSAE FoleEBEl|
250,000 = 1204 & 3,000
® 2=2H| 41,804 43,426
O SBZAT &I Y SAlH| 5,304
-&0| 188,000 * 1200 & 24 2~ 4,512
-S¢ 66,0003« 1200 & 11 & 79
O SESAE |
2,500 *3,200L *4CH 32,000
O SIIAZYLAIE ] 1,500
O RER ZA24 Zdl KAl 2,000
O ASAEE AIE&FHIFAIH 1,000
206 M= 4l 34,160 26,600
01 =l 34,160 26,600
O SIIJATMLAAE M7
12,0002 700 8,400
O ESAE Hz+Y
210,000& 365 7,560
O Z2H=sEE M7
400,000& x255 10,000
O &SAEE M2+
410,000& x20& 8,200
ASESIHY 2 4,8% 4,524
201 LBr23| 1,800 1,800
02 2324l 1,800 1,800
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SN JIEE3D
3 s Mlls2s SN
el PESE Jlgtxd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Zt & dl (82) 1,800
202 04l 3,09 2,724 372
01 =LHOHI 3,096 2,724 372
O SaAX=E FA0]
70,0002 +2E %123 +70/100 1,176
O 24 SZUHI(HAIEE)
160,000& x 1= 123 1,920
AL A 2H 16,352 15,061 291
101 @124H| 4,352 4,661 A309
M ORINZZE2NSE S 4,352 4,661 A309
O YA Zejol= (DY 22) 4,352
=2 80, 24021 %2 x20 1% 3,210
-R38Y4y
80,2402 x4 +2E+1d 642
—“2Es 250,000 x2Ex1H 500
201 Ler23 | 5,000 5,000
02 s5=34l 5,000 5,000
O ZAued AlE€&dl R
200,000 255 5,000
206 M=l 6,000 5,400 600
01 M=4l 6,000 5,400 600
O ZRWLR KT L 22 2
600,0002 %105 6,000
SEYSAL AL AY 52,500 52,500
401 Al HIZL 01| 52,500 52,500
01 Al&H| 52,500 52,500
SYSALZ AIZEU= ALY 52,500
SEXNDI B AY (RS FY) 70,000 0 70,000
= 35,000
o 35,000
405 AtatsE = 70,000 0 70,000
== 35,000
o 35,000
01 Tt =S F=HI 70,000 0 70,000
O ZAHg &l 7 70,000
< 35,000
= 35,000
FE0MS AL 2L 69,120 89,000 19,880
M=t s 23 69,120 67,000 2,120
201 Ler=23 | 9.120 7,000 2,120
01 At2teltl 3,120 3,120 0
O DId= el 28 228 7Y
72,0008 %102 720
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SN JIEE3D
3 s Mlls2s SN
el RElld= i2AE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O D= =24 &#d8 22|
150,000 #4323 600
O DId=tHedy 220
150,000& 122 1,800
02 s3=gHl 6,000 3,880 2,120
O 0142 HHedE KX
600,000 105 6,000
206 Tl 60,000 60,000
01 W=H 60,000 60,000
O B SOIME AZSAIK 2L
500,000 * 1203 60,000
FRE Ol & 500,000 0 500,000
FUHOMA (S EHLE20 500,000 0 500,000
307 @I2t01 & 50,000 0 50,000
02 QB HANSEER 50,000 0 50,000
O s KEAIS (FeIE 004t 50,000
402 BIZtAH=01A 450,000 0 450,000
01 QIZIXH2 AL 2 (KM TH ) 450,000 0 450,000
O =323 A (=IO 450,000
HH2LIHIO1=E23D) 45,435 39,123 6.312
Jl=23sl 45,435 39,123 6,312
JI23Hl 45,435 39,123 6,312
201 et 3| 25,515 18,447 7,068
01 At2t2l] 25,515 18,447 7,068
O At22telt] 28,350,000 *90/100 25,515
202 04l 156,120 15,876 AT56
01 SLHoIH 15,120 15,876 NT56
O =UoH 90,0002 x20H x 122 +70/100 15,120
203 HR=AH] 4,800 4,800
MU A2 LRFAI 4,800 4,800
O Jls=2sl2g 23|
400,000+ 123 4,800
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